SMJK KWANG HUA, KLANG
FIRST MONTHLY TEST 2010
FORM 4 PHYSICS
NAME:  ____________________________________



FORM  4 S _______
Instruction: Answer all the questions.
1 A physical quantity is ……………………………………………………………………. [1 mark]
2 Complete the table below with the corresponding symbol and S.I. base unit.                   [5 marks]
	Base quantity
	Symbol
	S.I. base Unit

	Length
	
	

	Mass
	
	

	Time
	
	

	Electric Current
	
	

	Thermodynamic Temperature
	
	


3 Scalar quantities are ……………………………………………………………………... [1 mark]

4 Two examples of scalar quantities are : ………………………………………………  [2 marks]
5 Vector quantities are………………………………………………………………………[1 mark]
6 Two examples of vector quantities are: ………………………………………………  [2 marks]

7 Study the following description of events carefully and then decide by using “ √ ” for related cases or “ X ” for not related cases, which events require magnitude, direction or both to specify them.




        





        [4 marks]
	Description of events


	Magnitude
	Direction

	The temperature in the room is 25 0C


	
	

	The location of Ayer Hitam is 60 km to the north-west of Johor Bahru


	
	

	The power of the electric bulb is 80 W


	
	

	A car is travelling at 80 km h-1 from Johor Bahru to Kuala Lumpur


	
	


8 Change the following quantities to the units shown.





        [3 marks]
(a) 1 g 
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 =  _______________  kg
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(b) 80 km 
[image: image3.wmf]1

-

h

 = ______________  m 
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(c) 5 
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mm

 = _________________  
[image: image6.wmf]3

m


9 a) 
Determine the readings of the following vernier calipers.
 

          [3 mark]


                      Zero error = ____________     

Reading shown = ______________







Corrected reading =  ____________
10 Determine the readings of the following micrometer screw gauges.


        [3 marks]

a)                                                                 b)


                Zero error = ____________
Reading Shown =  _______________








Corrected Reading =  _____________

**************************************GOOD LUCK!!!********************************
Prepared by,








Checked by,

___________________






_________________

(Pn. Ngew Paik Choo)






(En. Wong Kiat Hi)
SMJK KWANG HUA, KLANG

FIRST MONTHLY TEST 2010  

FORM 4 PHYSICS (MARKING SCHEME)

11 A physical quantity is a quantity that can be measured.  [1 mark]

	Base quantity
	Symbol
	S.I. base Unit

	Length
	l
	metre

	Mass
	m
	kilogram

	Time
	t
	second

	Electric Current
	I
	ampere

	Thermodynamic Temperature
	T
	kelvin


                            [5 marks]
12 Scalar quantities are quantities with magnitude only. [1 mark]
13 Distance, speed, mass, energy, temperature, time, electric current, power, work, density. [2 marks]

14 Vector quantities are quantities with both magnitude and direction. [1 mark]

15 Displacement, velocity, weight, momentum, impulse, acceleration, force. [2 marks]

	Description of events


	Magnitude
	Direction

	The temperature in the room is 25 0C


	√
	X

	The location of Ayer Hitam is 60 km to the north-west of Johor Bahru


	√
	√

	The power of the electric bulb is 80 W


	√
	X

	A car is travelling at 80 km h-1 from Johor Bahru to Kuala Lumpur


	√
	√


16 (a)   1 g 
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(b) 80 km 
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(c) 5 
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             [3 marks]
17 Zero error = + 0.02 cm 
Reading shown = 5. 64 cm 

Corrected reading = 5.62 cm                [3 marks]
18  Zero error = + 0.03 mm
Reading shown = 5.77 mm
Corrected reading = 5.74 mm
    [3 marks]
(a)
The following diagram shows the scale of a vernier calliper when the jaws are closed.





Zero error = …0.02………  cm


  (b).
The following diagram shows the scale of the same vernier calliper when there are   

                  40 pieces of cardboard between the jaws.
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Reading shown       =  …5.64…….cm





Corrected reading   =  …5.62……..cm
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